Front and Back panel layout Installation

9 13

Network cable

®

LHard Drive LED

Power LED
Power Switch

User manual
Product Code: A-NUC40-A1B / A-NUC40-M1B

. Cable opening with cap
CAUTION

Electrostatic discharge (ESD) can damage system components. If an ESD-controlled workstation is not available,
wear an antistatic wrist strap or touch an earthed surface before handling any PC components.

'WARNING

Please be careful when unpacking and setting up this product as metal edges can cause injury if not handled with

08 0 0\ N\ § § N

care.
Power cable

FR

Mhrewmon - , * Do not drag the 4

Une décharge électrostatique (ESD) risque d’endommager les composants du systéme. Si vous ne disposez pas - -

d'une station de travail avec protection contre I'ESD, portez un bracelet antistatique ou touchez une surface reliée . g -

4 la terre avant de manipuler les composants de I'ordinateur. TN — |nterna| cables

AVERTISSEMENT
Faites attention lors du déballage et de I'installation de ce produit car il comporte des coins métalliques coupants
qui risquent de vous blesser s'ils ne sont pas manipulés avec soin.

LUSB

D
Vorsicht
i (ESD - ic discharge) kann
B Sollte ein ESD platz nicht vorhanden sein, tragen Sie ein Network
antistatsches Armband or berhren Sie eine geerdete Oberfliche bevor Sie mit den Arbeiten am Computer
eginnen.
Wagrnun

Seien Sie vorsichtig beim Auspacken und beim Aufbau dieses Produktes. Scharfe Metallkanten kannten
Verletzungen hervorrufen wenn ohne die notige Vorsicht vorgegangen wird.

Internal layout

@ Front panel PCB
® M/B mounting standoffs
@ Aluminium heatsink for heat transfer

ES
CUIDADO

Descargas electrostaticas (ESD) pueden dafiar los componentes de su sistema.

Si no puede disponer de una estacién de trabajo libre de electrostatica, use una mufiequera antiestatica o toque
una superficie que haga tierra antes de manipular los componentes del ordenador.

PELIGRO

Por favor sea cuidadoso cuando desempaquete y ensamble este producto. Los filos de metal pueden causarle
cortes o heridas si no son manipulados adecuadamente.

PT

CUIDADO

Descargas Eletroestaticas (ESD) podem danificar componentes do PC. Caso nao tenha uma bancada especifica
disponivel, utilize uma pulseira anti-estatica ou toque uma superficie aterrada antes de manusear qualquer
componente.

ATEhcAo NTOINITIC ORI, ANENTTONCCANY, AANITIC
Por favor tenha cuidado ao desembrulhar e montar este produto, as extremidades de metal podem machucar,

caso o mesmo nao seja manuseado com cuidado.

P

3 3

BREIME (ESD) ISBFEa - MBICABESAZTENBYET.
AMSOBIFERET S Bl BIBBIREERETOTLLEL,
BEGMILSES LK ERBRFHLAR RSy 728AL T, BEHERET>TEEL.

BE
REOH (IvY) BATTHETBBANBIETOT,

AMREWEE. £y 7y TTRRICE. ChChbHETERCEEY, o °
N
R
FRERI AL (ESD) A B £ R RGETLF DT AR © 3 ToFs
© BEEEMR ALY -
[

FRBRERFIODT - BREERDEEG -

O

&

an (&
& o

GB Internal cable connectors

@ Thermal compound @ Thermal pad (for PCH) @ Screws for motherboard (black / M3)

@ Washer (red) ® Thermal gap filler (for M.2 SSD) ® Thermal module (for M.2 SSD)

@ 2.5" HDD / SSD screw (M3) ® 2.5" HDD / SSD mounting bracket ® HDD protective film
@ SATA cable @ Power cable @ USB 3.0 cable @ Ethernet cable @ HDMI cable

@ Power cable @ Mount bracket @ Mount bracket screws (silver / M3)

@ Cable leakproof seal (spare part) @ Back plate screw (spare part)

@ Back plate leakproof seal (spare part)

FR

@ Composé thermique @ pate thermique (pour PCH) 3 vis pour carte mére (Noir / M3)

@ Rondelle (rouge) ® Pate thermique (pour M.2 SSD) ® module thermigue (pour M.2 SSD)
@ Vis de disque dur /SSD 2,5" (M3) ® Support de fixation de disque dur / SSD 2,5"

@® Film protecteur de disque dur @@ Cable SATA @ Cable d'alimentation 2 Cable USB 3.0
@ Cable Ethernet 9 Cable HDMI @ Cable d'alimentation @ Montage

@ Vis pour Montage (argent/M3) @ Joint étanche de cable (piéce de rechange)

@ Vis de plaque arriére (piéce de rechange) @ Joint étanche de plaque arriére (piece de rechange)

2
2)
7

Power and HDD led
connectors

M.2 SSD card

GB

@ Warmeleitpaste @ Thermal Gap Filler (fiir PCH) @ Schrauben fur das Motherboard (schwarz / M3) Eg;drs? the case internal cable connectors to the corresponding motherboard

@ scheiben (rot) & Thermaler Liickenfller (far M 2 SSD) ® Thermo-Modul (far M.2 SSD) NOTE : If the connectors are not apparent on the board consult your motherboard
@ 2.5" HDD/SSD Schrauben (M3) ® 2,5" HDD/SSD-Befestigungsbiige @ HDD-Schutzfilm @ SATA Kabel  manual. Connecting the panel to the wrong headers may result in motherboard
@ Netzkabel @ USB 3.0-Kabel @) Ethernet-Kabel @ HDMI-Kabel @ Stromkabel @ Montagehalterung damage.

@ Montagehalterung Schrauben (Silber / M3) @ Kabel wasserdichtes Siegel (Ersatzteil)

@ Pasta térmica @ adesivo térmico (para PCH) @ parafusos para placa-mae (negro / M3)
@ Arruela (vermelho) ® Pelicula térmica (para M.2 SSD) ® modulo térmico (para M.2 SSD)

@ Parafusos para HD e SSD (M3) ® suporte de fixacdo para HD e SSD @ pelicula protetora para o HD
@ Cabo SATA @ Cabo de energia @ cabo de dados USB 3.0 @ Cabo de rede @ cabo de HDMI
@ Cabo de forca @ suporte de montagem @ Parafusos para suporte de montagem (prata / M3)

@ Anel de vedacao para cabo (reposicao) @ Parafusos (reposicao) @ Backplate de vedacdo (reposicdo)

ES

@ Compuesto térmico @ relleno térmico para huecos (para PCH)

@ tornillos para la placa base (negro/M3) @ Arandela (rojo) ® Relleno térmico (para M.2 SSD)
® modulo térmico (para M.2 SSD) @ tornillos para HDD/SDD de 2,5" (M3)

® Soporte de montaje para HDD/SDD de 2,5 ® Pelicula protectora para HDD @ Cable SATA
@ Cable de corriente @ Cable USB 3.0 @ Cable Ethernet @ Cable HDMI @ Cable de corriente
@9 bracket de la montura @ tornillos de bracket de la montura (plata / M3)

@ Aislante de cable a prueba de fugas (repuesto) 9 Tornillo de la placa posterior (repuesto)

@ Aislante a prueba de fugas para la placa posterior (repuesto)

»P

O Y=< TY—2 @ Y—<LF¥vvTT7+15— (PCHR)
/ M3)

® ZH—R—KARL

9 Schraube fiir Riickplatte (Ersatzteil) @ Riickplatte wasserdichtes Siegel (Ersatzteil) FR

Branchez les connecteurs de cable internes du boitier aux embases de carte mere
correspondantes.

REMARQUE : Si les connecteurs ne sont pas apparents sur la carte, consultez le
manuel de votre carte mére. Si vous connectez le panneau aux mauvaises embases
cela risque

d’endommager la carte mére,

D

SchlieBen Sie die Geh&useinternen Kabel-Anschliisse an die entsprechenden
Motherboard-AnschliBe.

HINWEIS: Wenn die Anschltisse auf dem Motherboard nicht ersichtlich sind,
schauen Sie bitte in ihren Motherboard-Handbuch nach. Ein Anschluss des Panels
an die falschen

AnschltiBe kann dazu fihren, dass das Motherboard beschadigt wird.

ES

Conecte los conectores de los cables del interior de la carcasa en los
correspondientes cabezales de la placa base

NOTA: Si los conectores no aparecen en la placa, consulte el manual de la placa
base La conexion del panel en los cabezales equivocados podria danar la placa base.

@ Tyvyv— (K ® Y—VIF¥vvTT1F— (M2SSD F) PT .
® Y—<IEI2—)L (M2SSD H) @ 25" HDD/SSD %Y (M3) Conecte os cabos internos do gabinete, nas entradas correspondentes da
® 25"HDD/SSD Bifd 757 v b @ HDD {R#7 LA © SATA—7 O BRT—7 placa-mae

@ USB307—7)IL® A—%%xvyr7—7)L @& HDMI =70

® BRI—TI ® XV TSrvh @ XVYNTZTy MARY (R / M3)
® T—FIERNESY—IL (ARTHR) O NyITL—bARY (ARTEHR)

NOTA : No caso das entradas nao estarem marcadas na placa-mae, consulte o
manual da mesma. Conectar os cabos numa entrada errada, pode danificar a
placa-mae.

@ Ny TL—NARNLSY =)L (RNRTEBR) P
CN , CERIBEEIF—R—FOIZa7IVEBBLY—ADRIXI 25—V
@ SHE @ SREHE(PCHE) @ TiRIBL (B /M3) ZERLEY.

@ E£RRE) ©

SHUHFERIR(M.2 SSDFA) (

IR 0 REFP © REFLBL R/ M3)

® HMBKEE (FR) © SHBL (FR) © SEGKRE (&)

5140198262 V2

HE (M2 SSD ) @ 2.5” HDD/SSD #££(M3)
® 2.5"HDD/SDD %248 @ BRMIPRH © SATA L O miFL% ® USB3.0&H © Mkt
9 HDMIZ#t a

R— FICERT5EY

FiciBEE5 X 28N H%
R— FDR =27 )% CHhE 4

fEEn

S TEC LY,

IR ETLR LA R MR AR TS RE iR F b o
B tﬂ%&i*ﬁi&i%iﬂ*ﬁﬁ&mﬁ%,iﬁﬁﬁiﬁzﬁmiﬁﬂﬂ ° MRLEHHESE,

f
|
=
2]
=
g
=,
3

Power and HDD led connectors

2018/01



mounting bracket installation Caution

Installation

NN\ """ """ " " 22\ 2™

10 7 250K 9 20X 3
[©] ® €]

®

GB
Please tighten the screw in the sequence above to achieve
the best and optimum waterproof result.

FR
Serrez les vis dans la séquence ci-dessus pour obtenir le
meilleur résultat et une étanchéité optimale.

D

Bitte ziehen Sie die Schraube in der oben gezeigten
Reihenfolge an, um das beste und optimale wasserdichte
Ergebnis zu erzielen.

PT
Por favor, aperte os parafusos conforme a sequéncia acima,
para que tenha uma melhor protecdo a prova d' agua.

ES
Apriete el tornillo en la secuencia mostrada para conseguir
el resultado éptimo de impermeabilidad.

Jp
BRADMHKEZRRYT Bfcéd. LROFIBICR>TRIZLD
DD TLEY,

CN
BRETRF DR EELNEBRER KGR -

GB
Ensure the testing opening cap is securely tightened.
DO NOT open or remove the testing opening cap on the front panel!

FR

Assurez-vous que le bouchon de I'ouverture de test est bien serré.
NE PAS ouvrir ni retirer le bouchon de I'ouverture de test sur le
panneau avant !

D
Stellen Sie sicher, dass die Prufoffnungskappe festgezogen ist.
Die Prufoffnungskappe an der Vorderseite NICHT 6ffnen oder entfernen!

PT

Certifique-se de que a tampa da entrada de testes esteja
devidamente apertada.

NUNCA abra ou remova a tampa da entrada de teste localizada no
painel frontal!

ES
Asegurese de que la tapa de pruebas esté bien apretada.
iNO abra ni quite la tapa de pruebas en el panel frontal!

P
BERA—TZV7F v v TH Lo UBE > TWAT EZRRLTLIEE L,
A MNRIVORERA—T =V 7% v v TR,

YA LY LEVLWTLZEL

CN
EBIAEANRFLBIET S B -
B MR RR BT A E S i 7L AR

GB

In compliance with IP65, this fanless case is protected against the ingress of dust
and is protected against low pressure jets of water from all practicable directions,
provided that all caps and covers are firmly closed.

Limited warranty: AKASA ensure all of the workmanship and manufacturing of
the case is in compliance with IP65, however, customer have to ensure the final
assembly of the case with motherboard are installed properly for IP65 compliance.

FR

Conformément a la norme IP65, ce boitier de ventilateur est protégé contre la
pénétration de poussiéere et contre les jets d'eau a basse pression de toutes les
directions possibles, a condition que tous les bouchons et couvercles soient
bien fermés.

Garantie limitée : AKASA assure que |'exécution et la fabrication du boitier sont
conformes a la norme IP65, cependant, les clients doivent s'assurer que
|'assemblage final du boitier avec la carte mére est correctement effectué
conformément a la norme IP65.

D

GemaB IP65 ist dieses lufterlose Gehause gegen den Eintritt von Staub und gegen
Wasserstrahlen mit geringem Druck aus allen Richtungen geschiitzt, vorausgesetzt
dass samtliche Kappen und Abdeckungen fest geschlossen sind.

Eingeschrankte Garantie: AKASA gewahrleistet, dass die Verarbeitung und
Herstellung des Geh&uses gemaB IP65 erfolgt. Der Kunde muss allerdings
sicherstellen, dass der Zusammenbau des Gehduses mit einem Motherboard den
IP65 Vorgaben entspricht.

PT
Este gabinete fanless esta em conformidade com a norma IP65, possui protecao
contra poeira e jatos de dgua com baixa pressao, independente da direcdo dos
mesmos, desde que todas as tampas estejam fechadas.

Garantia Limitada:A AKASA garante que toda mao-de-obra e processo de
fabricacdo do gabinete, estda em conformidade com as normas IP65,
porém depende do usuario realizar a instalacdo correta da placa-mae,
para assegurar a conformidade com o IP65.

ES

Compatible con IP65, esta carcasa sin ventilador esta protegida contra la
contaminacién de polvo y protegida contra vertidos de agua a baja presion

desde todas direcciones, siempre que todas las tapas y cobertores estén bien cerrados.

Garantia limitada: AKASA asegura que toda la mano de obra y fabricacién de la
carcasa es compatible con IP65, sin embargo, el cliente debe asegurarse de que el
montaje final con la placa base se haya realizado adecuadamente para cumplir con
la norma IP65.

P
ZDT7VLRT—RIE, ITRNTDF v v TEAN—DBBEAETNTWVBEY.
IP65SDIRIEICHES T, ERDEBALEME. HSWSARELHEARALSDEENY T v
KR L TEBKEE B TVET,

HIBRAT E 4REE: AKASAIEZ T — A DIRMELS K URISET2H 9 N T IP65RRIRIC
BELTVWATEERELTWVEIH, IT—R— FZEEY fFF 77— ADIP65FREIC
BELTVWA I ZZHRHICHR T 2BEIEERICHYET,

CN
T REHLFEFF & | PESRRIRFARAE » BFIEAR BN R & A AR EK RS - EFTHEE
BEFULRTERE

BIRREIREK © AKASAMRIEL A BT A E=HIIERF & IPESFHE K - BEALMBRERGARE
RREEWRIEF EWBIFFE |PESIRA o

NN\ N\ """ """ " " "2\



